Учебная карточка № 1.
Решите уравнение: 
1. [image: image2.png]log,(5+x)





2.[image: image4.png]logs;(2x —3) = log; (18— x)




3.[image: image6.png]logs 169 =





Решите неравенство:

1. [image: image8.png]log,x = 4




2. [image: image10.png]logosx > 3




3. [image: image12.png]log,(4x+7) >0





Учебная карточка № 2.

Решите уравнение:
                                 Решите неравенство:
1. [image: image14.png]5logas?

0g, (x* + 2x)



                           1. [image: image16.png]log,_,x = —1



                                                   
2. [image: image18.png]log,s(x—1)



+[image: image20.png]logz(2x—3) =1



   
3. Найдите наибольший корень             2. [image: image22.png]l0g;,s(5x—2) <1




[image: image24.png]2logsx =2 — 3logsx



                                    3.[image: image26.png]log,,(x* —5x+6) <1




Учебная карточка № 1.

Решите уравнение: 
1. [image: image28.png]log,(5+x)





2.[image: image30.png]logs;(2x —3) = log; (18— x)




3.[image: image32.png]logs 169 =





Решите неравенство:

4. [image: image34.png]log,x = 4




5. [image: image36.png]logosx > 3




6. [image: image38.png]log,(4x+7) >0





Учебная карточка № 2.

Решите уравнение:
                                 Решите неравенство:

[image: image40.png]1.5%0925%

0g, (x* + 2x)



                                1. [image: image42.png]log,_,x = —1



                                                   

[image: image44.png]2.log;5(x— 1)



+[image: image46.png]logz(2x—3) =1



   

3. Найдите наибольший корень             2. [image: image48.png]l0g;,s(5x—2) <1




[image: image50.png]2logsx =2 — 3logsx



                                    3.[image: image52.png]log,,(x* —5x+6) <1




